

$$\frac{\log m n}{\log m} = \frac{r \log m + \log n}{\log m + \log n} = \frac{r \log m + \log n}{\log m + 1}$$

$$\frac{a+a+1}{r a+1} = b \rightarrow \frac{a}{a+1} = b$$

$$[b] = \left[1 + \frac{a}{a+1}\right]$$

$$\frac{a}{a+1} < 1 \Rightarrow [b] = 1$$

$$x < 0$$

$$\frac{1}{n} \log n < \frac{1}{n} \log n$$

$$x > 0$$

$$\frac{(1,0,0)}{(0,0,0)}$$

$$Df = (0,0,1)$$

$$(-)$$

$$x_{-n-r} \rightarrow (n-r)(n+1) \rightarrow -1, r$$

$$x_{-1} > 0$$

$$x_{-1} > 0$$

$$Df = (-\infty, -1) \cup (r, +\infty)$$

(10)

$$r \log_a a + \log_a r = r$$

↓

$$\frac{\log_a a + \log_a r}{b} = r \rightarrow b \left(b + \frac{1}{b} \right) = r \rightarrow b + 1 - r b = 0$$

$$(b-1)r = 0 \rightarrow b=1$$

$$\log_a a = 1 \rightarrow a = 10$$

$$\frac{0.1 \times 0.1}{(10 \log a - \log r) x + (r \log r) x - (\log r + \log a)} = 0 \quad (11)$$

$$\log \frac{10}{r} \rightarrow \log 10 - \log r \rightarrow 1 - \log r = 0.1$$

$$0.1 r x + 0.1 x - \frac{11}{r} = 0$$

$$1. \left(\frac{r}{1} x + \frac{1}{r} x - \frac{11}{r} = 0 \right) \quad (x - 11)(x + 11)$$

$$r x + x - 11 = 0$$

$$x + x - r x = 0$$

3, -11

÷ 3

$$1, -\frac{11}{r}$$

$$-\frac{11}{r} - 1 = -\frac{11}{r}$$

$$\frac{\log 10}{\log 11} = \frac{\log r + \log a}{\log r + \log r} \div \log r \rightarrow \frac{1 + \log a}{\log r + 1} = \frac{10}{11}$$

(12)

$$\frac{\log a}{\log a} = \frac{\log r + \log r}{\log a + \log a} \div \log r \rightarrow \frac{1 + \log a}{\log a + 1} = \frac{10}{11}$$

$$\frac{\log r}{\log r} = \frac{\log r + \log r}{\log r} = 1 + \log r \rightarrow \frac{1}{r} \log r + 1 \quad (✓)$$

$$\log r = m \rightarrow \log \frac{r}{r} \rightarrow \log \frac{r}{r} + \log \frac{r}{r} = \frac{r}{r} \log r + \frac{1}{r} = m$$

$$\frac{r}{r} \mid \frac{r}{r} \log r = m - \frac{1}{r} \quad \log \frac{r}{r} = \frac{r}{r} m + \frac{r}{r} *$$

$$\frac{1}{r} \log r = \frac{r}{r} m - \frac{1}{r}$$

$$\frac{r}{r} m - \frac{1}{r} + 1 = \frac{r}{r} m + \frac{r}{r}$$

$$\frac{r}{1} \rightarrow \frac{r}{\omega} \rightarrow \left(\frac{r}{\omega}\right)^{r-1} = \left(\frac{\omega}{r}\right)^{r-1} \rightarrow \left(\frac{r}{\omega}\right)^{-r}$$

$$\left(\frac{r}{\omega}\right)^{r-1} = \left(\frac{r}{\omega}\right)^{-r} \rightarrow \frac{r}{\omega} + r - 1 = 0 \rightarrow r + r - r = 0$$

$$(r + r)(r - 1) = 0 \rightarrow 1 - r \rightarrow \frac{1}{r} - 1$$

$$\log r \rightarrow \log \frac{r}{r} \rightarrow \frac{r}{r}$$

$\frac{r}{r} = \frac{r}{r}$
X

$$\frac{1}{r} \log b = \frac{r}{r} (\log r + \log \frac{r}{r}) \quad r b - r \rightarrow 1 \quad (9)$$

$$\log_r b = \log_r r$$

$$\log 1 \rightarrow (r)$$

$$b = r$$